A B \ c D E F G | H |1 | J]| K |L|M| N | O P Q R S TIU|V W] X | Y| Z|A|AB] AC AD AE |AF| AG | AH | Al | AJ | AK | AL | AM |AN| AO | AP | AQ | AR | AS AT AU AV AW AX AY AZ BA BB BC BD BE BF BG BH BI BJ BK BL
1 "Fn=En-$E$6| "Pn=Kn/Jn{ "Rn=In/0.00051f"Sn=In/0.00021} "ADn=AAn/Zn|'
2 | I | | |
3 |DFMI Acoustic data at Tempel 1 encounter | Data for DT UTC appears to be correct time interval | | | Data for |
4 | (From DFM1 output). Version 24/2/11 | Raw | | | Re-defined |
5 1700 good data records in original file | plots | | | plots | 0.0 0.0 0.0 0 0.0 0.0
6 4h 39m 12s is nominal encounter time entered 16752 Vv | | o=t >n! | | | | | "===>t===> | 100.0 100.0 50.0 100 25.0 100.0
7 \' \' Vv \'/ \' Blue mea erta \'4 \'4 \' Maximum/minimum likely events per channel
8 overf Max cts J r]t
IT SPACECRAFT_UTC_TIME UTC T DT(UTC) DT |RAWI[COUNTS low possible Number of events Re-defined|Counts Re-defined Max [[Min Max likgMin Max likjMin Max likgMin
9 hrs min sec (sec) (sec) (sec) (sec) N1 |N2 N3 |N4 |[Comment chan |[N2/N1 Low (N1,N3) [High (N2,N4) nl |n2 |n3 |n4 N1 |N2 [N3 |N4 |N2/N1 N1 |N1 N2 N2 N3 N3 N4 N4
10
11
12 1| =INT(E12/3600) =INT((E12-(B12*3600))/60) —E12-(B12*3600)-(C12*60)| 15436.415] =E12-$SE$6 0 0 o o OlStartof data
13
14 920 =INT(E14/3600) =INT((E14-(B14*3600))/60) =E14-(B14*3600)-(C14*60)| 16355.406] =E14-$E$6 1 1.0 2 0 o Olsingle isolated event =K14/J14 =114/0.00051] =114/0.00021 i of o o 2 o] o of =AA14/714 1 1
15
16 998 =INT(E16/3600) =INT((E16-(B16*3600))/60) =E16-(B16*3600)-(C16*60)| 16433.406 =E16-$E$6 1 1.0 4 (0] 0 O[single isolated event =K16/J16 =|16/0.00051 =116/0.00021 1 0 0 0 4 0 0 0 =AA16/Z16 1 1
17 . _ - in -
18 | 1125 =INT(E18/3600) =INT((E18-(B18*3600))/60) =E18-(B18*3600)-(C18*60)| 16560.414] =E18-$E$6 1 0] 2 0 0 Olsingle isolated event =K18/J18 =118/0.00051]  =118/0.00021 1 o o o 2 0| 0 o] =AA18/Z1§ 1 1 Raw N1/N2 ratio - all data (C°|umn Kvs. Column J) Re-defined N1/N2 ratio - all data (C0|umn AA vs. Column Z)
19 150 1 150 +
20 1239 =INT(E20/3600) =INT((E20-(B20*3600))/60) =E20-(B20*3600)-(C20*60)| 16674.316 =E20-$E$6| 0.898 0.9] 47 12 0 O|Possible overlap but unlikely =K20/J20 =|20/0.00051 =|20/0.00021 1 1 0 0 471 12 0 0 =AA20/Z20 2 1 1
21 1240 =INT(E21/3600) =INT((E21-(B21*3600))/60) =E21-(B21*3600)-(C21*60)| 16674.418 =E21-$E$6| 0.102 0.1 22 0 0 O|possible run-over but unlikely =K21/J21 =121/0.00051 =|21/0.00021 1 0 0 0 22 0 0 0 =AA21/Z21] 1 0 > [
22 L
23 [ 1249 =INT(E23/3600) =INT((E23-(B23*3600))/60) =E23-(B23*3600)-(C23*60)| 16681.703] =E23-$E$6| 0.297 03] 24 1|~ 0  Ofpossible overlap but unlikely =K23/323 =123/0.00051] =123/0.00021 i 1 o o 24 1] 0| 0] =AA23/z23 2 1 1 1
24 1250 =INT(E24/3600) =INT((E24-(B24*3600))/60) =E24-(B24*3600)-(C24*60)| 16682.406 =E24-$E$6| 0.703 0.7 24 0 0 O|Possible over-run but very unlikely =K24/J24 =|24/0.00051 =124/0.00021 1 0 0 0 24 0 0 0 =AA24/Z24 2 0 > |
25 > L > >
26 1263 =INT(E26/3600) =INT((E26-(B26*3600))/60) =E26-(B26*3600)-(C26*60)| 16695.406 =E26-$E$6 1 1.0 1 (0] 0 O|Single isolated event =K26/J26 =|26/0.00051 =|26/0.00021 1 0 0 0 1 0 0 0 =AA26/Z26 1 1 > 100
27 100 2 N T >
28 1265 =INT(E28/3600) =INT((E28-(B28*3600))/60) =E28-(B28*3600)-(C28*60)| 16697.019 =E28-$E$6| 0.601 0.6 24 1 0 O[single isolated event =K28/J28 =|28/0.00051 =|28/0.00021 1 1 0 0 24 1 0 0 =AA28/228 2 1 1 1 ~ . > > <L = >
29 c > N4
c S i >
30 1267 =INT(E30/3600) =INT((E30-(B30*3600))/60) =E30-(B30*3600)-(C30*60)| 16698.418 =E30-$E$6 1 1.0 2 (0] 0 O[single isolated event =K30/J30 =130/0.00051 =130/0.00021 1 0 0 0 2 0 0 0 =AA30/Z30 1 1 1= > 4 E = > = >
=, > > >
31 : _ ° > > —_— E s > 4 >
N2/N1 looks unlikely. Overlap could be Chl and Ch2. This gives| (¥ o > >
32 a chl only event of 4 counts followed by a n1=76,n2=56 event). ~ > > (@) B » S
Alternative is chl only overflow giving 2 events (each with chl (! > Nt »
_ _ . _ . N _ and ch2 signals). Former case gives more realistic result. _ _ _ _ 2 50 » } » > | 50 T > - -
1269 =INT(E32/3600) =INT((E32-(B32*3600))/60) =E32-(B32*3600)-(C32*60)| 16700.203 =E32-$E$6| 0.793 0.8 20 38 0 0 =K32/J32 =|32/0.00051 =132/0.00021 2 1 0 0 4 0 0 0 =AA32/Z32 3 1 2 1 > ) > > = * g
33 Adopt 2 events in 1269 none in 1270. 76| 56 0 0 =AA33/Z33 > » > »
34 | 1270 =INT(E34/3600) =INT((E34-(B34*3600))/60) =E34-(B34*3600)-(C34*60)| 16700.406] =E34-$E$6| 0.203 0.2] 60| 18] 0] O|See above. =K34/J34 =134/0.00051]  =134/0.00021 of o o o » > I? .
35 L i
36 [ 1272 =INT(E36/3600) =INT((E36-(B36*3600))/60) =E36-(B36*3600)-(C36*60)| 16702.418] =E36-$E$6 1 .0 3 0 0| O[Single isolated event =K36/J36 =136/0.00051] =136/0.00021 1 o o o 3 0| of o =AA36/Z36 1 1 > > >
37 > > >
Isolated event - idence f 1l doubl t >
38 | 1274 =INT(E38/3600)  =INT((E38-(B38*3600))/60)  =E38-(B38*3600)-(C38*60)| 16704.418] =E38-$E$6| 1 1.0 18 4] o Ooverow s oroveriowor corbe coumer 1 =K38/338 =138/0.00051| _ =I38/0.00021 1 1 o o 18| 4 o o =Aassizsg | I I 0 } } } } } } } } |
39 0 1 1 1 1 1 1 1 1 1
40 1279 =INT(E40/3600) =INT((E40-(B40*3600))/60) =E40-(B40*3600)-(C40*60)| 16709.418 =E40-$E$6 1 1.0 10 0 0 O|single isolated event =K40/J40 =140/0.00051 =140/0.00021 1 0 0 0 10 0 0 0 =AA40/Z40 1 1 0 20 40 60 80 100 120 140 160 180 0 20 40 60 80 100 120 140 160 180
41
42 | 1282] =INT(E42/3600) =INT((E42-(B42*3600))/60) =E42-(B42*3600)-(C42*60)| 16712.406] =E42-$E$6 1 % 0 0| O|Possible overlap but very uniikely =K42/342 =142/0.00051]  =142/0.00021 i o o o 4 o o o =AA42/z42 1 1 N2 (Column K) N2 (Column AA)
\Very large impact with signal in all 4 channels. However, : : : : ! ! ! ! ! : : ! ! . . . ! ! ! . . ! !
channel 3 must overflow into next time step and this makes . - -
things more complicated. 80 counts in ch3 = 40.8ms. Ch2 count Raw N2/N1 ratio vs N2 (Column K vs. Column P) Re-defined N2/N1 ratio vs N2 (Column AA vs. Column AD
43 of 142 is 29.8ms so this is consistent with zero overflow. Chl
counts must be maximum of 80. This gives 39 counts in chl for
another event. N1 looks low compared with N2 but any other 2 20 T 2 2 T
1283  =INT(E43/3600) =INT((E43-(B43*3600))/60) =E43-(B43*3600)-(C43*60)| 16712.703] =E43-$E$6| 0.297 0.3 129] 142 80| 41)colution is worse. =K43/343 =143/0.00051]  =143/0.00021 2l o 1 1 39| 12| of o =AA43/z43 2 1 1 1 1 1 1 1 | |
44 |JSES| 81 130] 98] 41 =AA44/z44 5
45 Ch3 count without ch2 means it must be an overflow from .00+ 2
1284 =INT(E45/3600) =INT((E45-(B45*3600))/60) =E45-(B45*3600)-(C45*60)| 16713.418 =E45-$E$6| 0.715 0.7 1 0] 18 Olprevious timestep. =K45/J45 =145/0.00051 =145/0.00021 0 0 0 0 0 0 0 0 1 0 0 0 = > L
Single marginal penetration? N1 counts rather low for this? 1 80 1 > 1 8 |
46 May _be c_)verlap With next event, _but low probability. However, . » .
N1 high t time st half counts here (k - L
1285|  =INT(E46/3600) =INT((E46-(B46*3600))/60) =E46-(B46*3600)-(C46*60)| 16713.719] =E46-$E$6| 0.301 03] 23 9 5| Ofenimbere g, ep 0 assign half counts here (keeps —K46/146 -146/0.00051]  =146/0.00021 4 1 1 o sl ol 5| ol =Aa46/z46 1 1 1 1 1 1 1601 > G R
Single i t assigned Id be 2 ibl lap f . -0
47 | 1286]  =INT(E47/3600)|  =INT((E47-(B47*3600))/60)  =E47-(B47*3600)-(C47*60)| 16714.418] =E47-$E$6| 0.699 07] 41f 0] of ol aseianed (coulde 2) or possible overiap from =K47/347 =147/0.00051|  =147/0.00021 11 o o o 200 o o o =Anazza7 2 1 _ i — I
48 | 1287] =INT(E48/3600) =INT((E48-(B48*3600))/60) =E48-(B48*3600)-(C48*60)| 16715.422] =E48-$E$6| 1.004 o] 2 0 0|  O|single impact most probable =K48/J48 =148/0.00051] =148/0.00021 i of o o 2 of o of =AA48/74§ 1 1 o 140 9: 141 >
49 c L > T
50 1289 =INT(E50/3600) =INT((E50-(B50*3600))/60) =E50-(B50*3600)-(C50*60)| 16717.406 =E50-$E$6| 0.988 1.0 15 1 0 O[single isolated event =K50/J50 =150/0.00051 =|50/0.00021 1 1 0 0 15 1 0 0 =AA50/Z50 1 1 1 1 E 1.20 + > > g 1.2+
51 S5 :
= I S I
52 | 1201] =INT(E52/3600) =INT((E52-(B52*3600))/60) =E52-(B52*3600)-(C52*60)| 16719.418] =E52-$E$6| 1.012 10 9 0l o O[single isolated event =K52/J52 =152/0.00051] =152/0.00021 i of o o of o] o of =AA52/Z52 1 1 8 1.00 . S 1 >
53 = YY1 T
54 Could be overlap with next time step but would then need - [ > 9’ B 5 g
ther chl only i t to satify nl cts. Retain 2 ts b Eis » L
1293]  =INT(E54/3600)  =INT((E54-(B54*3600))/60)|  =E54-(B54*3600)-(C54*60)| 16721.019| =E54-$E$6| 0.601 0.6 14 o of  ofteeting comec © SN . Retain 2 events by —K54/J54 -154/0.00051|  =154/0.00021 Jd 1 o o 10| o o o -=aasa/zs4 2 I R % 080+ . , » S 08+ .
Bl 29| 16| 0] 0] =AA55/Z55 > T, > > N r . > >
Could be overlap from previous time step and duration is short 060 e > > 2 O 6 T 'S >
56 SO probability of overlap _is not negligible._ Retain 2 events but L > = | > >
Il counts t tep. No evidence for doubl > >
1294  =INT(E56/3600))  =INT((E56-(B56*3600))/60)  =E56-(B56*3600)-(C56*60)| 16721.121] =E56-$E$6| 0.102 0.af 45 7 of  ofiounteroverfiow o n o SYEEeETOTEOERE 1 =Ks6/356 =156/0.00051] _ =I56/0.00021 oo o o o o o o o i o o o 040 1>» 0.4 1 > e
57 | 1295 =INT(E57/3600) =INT((E57-(B57*3600))/60) =E57-(B57*3600)-(C57*60)| 16721.418] =E57-$E$6| 0.297 0.3] 26 1 0]  Ofassign single event. =K57/357 =157/0.00051] =157/0.00021 1 1 o o 26| 1 0 0 =AA57/Z57 1 1 1 1 G S . <
>
58 0.20 ™ > W’»,gf
t(N2()/t(N1) high. Could be overlap with next timestep?. No : | ’f}’ > O 2
59 double oyerflow onch2or m_issed overflow on ch l as there is > n
1298]  =INT(E59/3600 =INT((E59-(B59*3600))/60 =E59-(B59*3600)-(C59*60)| 16723.804] =E59-$E$6| 0.398 0.4 28] B3] 0] Ol e e e e e 2| =K59/359 =159/0.00051]  =159/0.00021 2l 1l o o 120 o o o =AA59/z59 2 1 1 1 0.00 ¥—— i i i | | | | | or ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ i
( ) (( ( )) ) ( ) ( ) . . . event N1 counts to this event to retauin total of two events. - - O 20 40 60 80 100 120 140 160 180 O 20 40 60 80 100 120 140 160 180
60 |[I2SE| 68 63 0o 0] =AAB0/Z60
61 | 1299] =INT(E61/3600) =INT((E61-(B61*3600))/60) —E61-(B61*3600)-(C61*60)| 16724.406] =E61-$E$6| 0.602 0.6] 43 0 0|  O|See above. Could be event in this period as well. =K61/J61 =161/0.00051]  =161/0.00021 of o o o of o o o 2 0 N2 (Column K) 2 (Col )
62 N olumn AA
63 1301 =INT(E63/3600) =INT((E63-(B63*3600))/60) =E63-(B63*3600)-(C63*60)| 16726.418 =E63-$E$6 1 1.0 15 1 0 0O|single event most likely. =K63/J63 =163/0.00051 =163/0.00021 1 1 0 0 15 1 0 0 =AA63/Z63 1 1 1 1
64 | 1302] =INT(E64/3600) =INT((E64-(B64*3600))/60) —E64-(B64*3600)-(C64*60)| 16727.418] =E64-$E$6 1 10l 15 0 O O[Single event most likely. =K64/J64 =164/0.00051] =164/0.00021 i of o o 15] o] o o =AA64/Z64 1 1
65 _ _ _ _ Consist_gnt with s_ingle event.Overrow_to next event is low _ _ _ _
1303 =INT(E65/3600) =INT((E65-(B65*3600))/60) =E65-(B65*3600)-(C65*60)| 16728.32 =E65-$E$6| 0.902 0.9 84 68 0 Olprobability and gives worse N2/N1 ratio. =K65/J65 =165/0.00051 =165/0.00021 1 1 0 0 84| 68 0 0 =AA65/Z65 2 1 1 1
66 1304 “INT _ . _ . " _ O\{erlap from previous possible but new event most likely. No _ _ _ _
=INT(E66/3600) =INT((E66-(B66*3600))/60) =E66-(B66*3600)-(C66*60)| 16728.418] =E66-$E$6| 0.098 01 9 0] 0  Olevidence for counter double overfiow. 1| =Ke6/66 =166/0.00051|  =166/0.00021 1 o o o 9f of o o =AA66/z66 1 0
67
68 1306 =INT(E68/3600) =INT((E68-(B68*3600))/60) =E68-(B68*3600)-(C68*60)| 16730.203 =E68-$E$6| 0.797 0.8 57 21 0 0|1 event most likely. =K68/J68 =168/0.00051 =168/0.00021 1 1 0 0 571 21 0 0 =AA68/268 2 1 1 1
69 1307 =INT(E69/3600) =INT((E69-(B69*3600))/60) =E69-(B69*3600)-(C69*60)| 16730.406 =E69-$E$6| 0.203 0.2 14 0 0 0|1 event most likely. =K69/J69 =169/0.00051 =169/0.00021 1 0 0 0 14 0 0 0 =AA69/Z69 1 1
70
Singl t most likely. Overl ible (but must still be 2
71| 1313  =INT(E71/3600)(  =INT((E71-(B71*3600))/60)  =E71-(B71*3600)-(C71*60)| 16735.019] =E71-$E$6| 0.601 06| 39| 13| 0  ofverimy o ke Overtap possible (butmust silbe =K71/371 =171/0.00051|  =171/0.00021 ] 1 o o 39 13| of o =AAtwz7Y 1 1 1 1
Singl t most likely. High N1 count hide anoth
72 | 1314 =INT(E72/3600) =INT((E72-(B72*3600))/60) =E72-(B72*3600)-(C72*60)| 16735.406| =E72-$E$6| 0.387 04 40 of o Olevent oSt Te. TGRS COUNS MAy e anomer =K72/J72 =172/0.00051|  =172/0.00021 il o o o 400 of o o =aAa72iz72 2 1
73 [ 1315] =INT(E73/3600) =INT((E73-(B73*3600))/60) =E73-(B73*3600)-(C73*60)| 16736.406] =E73-SE$6 1 ol 3 0 0|  O|Single event most likely =K73/373 =173/0.00051] =173/0.00021 1 o o o 3 o] 0 o] =AA73/Z73 1 1
74 [ 1316] =INT(E74/3600) =INT((E74-(B74*3600))/60) =E74-(B74*3600)-(C74*60)| 16736.906] =E74-$E$6] 05 05 3 0 0| Olsingle event most likely =K74/374 =174/0.00051] =174/0.00021 1 o o o 3 of o of =AA74/z74 1 1
75 [ 1317] =INT(E75/3600) =INT((E75-(B75*3600))/60) =E75-(B75*3600)-(C75*60)| 16737.105] =E75-$E$6| 0.199 0.2 80 37 0| O[Single event reasonable - could mask second. —K75/375 =175/0.00051]  =175/0.00021 11 o o 8ol 371 o o =AAT5Z75 > 1 T 1
76
Most likely single event based on duration but N2/N1 low
77 followed t;y hégGhNNll court1t ir';n;axlt inie:vlal. Asbsumtfa overltap and
1319  =INT(E77/3600) =INT((E77-(B77*3600))/60) =E77-(B77*3600)-(C77*60)| 16738.418| =E77-$E$6 1 1ol 47l 38| o of TN e cous e ol nUmber of events. 1| =K77/377 =177/0.00051|  =177/0.00021 of 1 o o 2l o o o =Aa77/Z77 2 1 1 1
Bl 67] 36 0 O =AA78/z78
High N1 count. Could b flow f i t
79 | 1320 =INT(E79/3600)(  =INT((E79-(B79*3600))/60)  =E79-(B79*3600)-(C79*60) 16738.82] =E79-$ES$6| 0.402 04 52| of of Offnan1events here Assign 2 impacts in 1219, =K79/379 =179/0.00051|  =179/0.00021 oo o o o ol _o o o 1 o
80
81 | 1322] =INT(E81/3600) =INT((E81-(B81*3600))/60) =E81-(B81*3600)-(C81*60)| 16740.219] =EB1-$E$6| 0.801 0.8[ 48 7 0|  O|Single event most likely =K81/J81 =181/0.00051]  =181/0.00021 1 1 o o 48 7] 0 0 =AAs1/z8l 2 1 1 1
82 | 1323 =INT(E82/3600) =INT((E82-(B82*3600))/60) =E82-(B82*3600)-(C82*60)| 16740.418] =E82-$E$6| 0.199 02 14 0 O O|Single event most likely =K82/J82 =182/0.00051] =182/0.00021 i of o o 14 o o o =AA82/z82 1 1
Singl t most likely No eviidence for doubl t
83 | 1324 =INT(ES3/3600)  =INT((E83-(B83*3600))/60)  =E83-(B83*3600)-(C83*60)| 16740.621] =E83-$E$6| 0.203 0.2 78] 48] 0|  OfoverfowmoNzey o o o o 2| =K83/383 =183/0.00051] _ =I83/0.00021 1 1 o o 72| 48 o o =AA83/z83 2 I I
Large event. Ch 3 and 4 must overlap with next event.
However, N3 and N4 don't give coincident signal. N4>N2
acceptable since N2 in second period is zero. Requires
minimum of two penetrations in 1325 followed by 0 or more
84 single ch 1 events in 1326. Assuming all ch4 counts in 1 event
gives 72,22,49,0 and <109,34,92,71. First event has high N3
count with no N4. Possible that there are two ch4 events, which
Id require 2 h1 onl ts to mak bl
1325|  =INT(E84/3600)  =INT((E84-(B84*3600))/60)|  =E84-(B84*3600)-(C84*60)| 16741.121| =EB4-$E$6| 0.5 0.5 100] 56| 77| 69NN ratios. This solution looks more realisic. i =ke4/384 =184/0.00051| _ =184/0.00021 3 2| 2o 2 15| o] o o =Aa84/zs4 < I Y R - 2 2 1
85 See above 64| 26| 56| 19 =AA85/Z85
86 See above 72| 30| 85 52 =AAB6/Z86
87 1326 =INT(E87/3600) =INT((E87-(B87*3600))/60) =E87-(B87*3600)-(C87*60)| 16741.406 =E87-$E$6| 0.285 0.3 81 0] 64 2|see above. Assign further chl only event in this period. =K87/J87 =187/0.00051 =187/0.00021 1 0 0 0 30 0 0 0 =AA87/Z87 1 0 0 0 0 0 0 0
N1 counts look low for a penetration. It is possible that N1
88 counts alone ove_rflow (a_bout 5% probability only) but there
tb th t tt t LA half
1327 =INT(E88/3600)]  =INT((E88-(B88*3600))/60)|  =E88-(B88*3600)-(C88*60)| 16741.504] =E88-$E$6| 0.098 0.1f 10] 4 6] 0[N counts from next tmestep. oo S9N =K88/J88 =188/0.00051] _ =I88/0.00021 1 1 1 o 2711 4 6| o =Anssizss o o a1 1
Can't be overlap with next event since N3 starts before N2 and
89 N1 contributi Id only be 1 t . A ingl
1328]  =INT(E89/3600)  =INT((E89-(B89*3600))/60)|  =E89-(B89*3600)-(C89*60)| 16741.605| =E89-$E$6| 0.101 01f 48] 1] 2|  Oleventwith Ni counts spread with previous time step.. - =K89/J89 =189/0.00051| _ =189/0.00021 | af af o 26| 1| 2| o =AA8s9/z89 1 | R 1
Possible overflow (ch 1 only) to next frame (based on N2/N1
90 t and high N1 ti tinterval). Assign 40 t
1329  =INT(E90/3600)]  =INT((E90-(B90*3600))/60)|  =E90-(BI0*3600)-(C90*60)| 16741.703] =E90-$E$6] 0.098 0.1] 46| 46| 11]  Ofom et inonmlio e evant o Aseian 40 counts 3| =K90/J90 =190/0.00051] _ =190/0.00021 ] 1 1 o 86| 46 11] 0] =AA90/90 I I | 1
Assign 1 f30 . with 40 igned
91 | 1330] =INT(E9U/3600)|  =INT((E91-(B91*3600))/60)  =E91-(BI1*3600)-(C91*60)| 16742.406| =E91-$E$6| 0.703 07 70f o] of ofevbusevent oo MR counis assignedio 1 =k91/391 =191/0.00051| _ =191/0.00021 1 o o o 300 o o o =Aaguzoi 2 1
Cannot be overflow from previous period. .N1 counts cover 40%
92 of tptal time interval, but no other _evidence for overflow to bext
d. Overflow to next t ts. And
1331]  =INT(E92/3600)  =INT((E92-(B92*3600))/60)|  =E92-(B92*3600)-(C92*60)| 16742.504] =E92-$E$6| 0.098 0.1f 82 67 1  OffcsrenistoNaing e ST ARTAE =K92/J92 =192/0.00051] _ =192/0.00021 1 1 1 o 82| 67 1] 0 =AA92/z92 1 1
93 . . " Some or all counts might have come from previous period but
1332 =INT(E93/3600) =INT((E93-(B93*3600))/60) =E93-(B93*3600)-(C93*60)| 16743.418 =E93-$E$6| 0.914 0.9 23 0 0 Olkeep as separate event. =K93/J93 =|93/0.00051 =193/0.00021 1 0 0 0 23 0 0 0 =AA93/Z93 1 0
94
High N2/N1 ratio implies possible overflow into next timestep
(especially with high N1 count in next time interval). If ch2
overflows as well then there must be an additional ch1 event in
95 this time step (14cts) and N1 counts are then high even
requiring one or two more extra chl events in next time interval.
A h2 overflow. Thi ibl t
1336]  =INT(E95/3600)  =INT((E95-(B95*3600))/60)|  =E95-(BI5*3600)-(CI5*60)| 16746.32| =E95-$ES6| 0.902 09| 57| 106] 7| Ofootaiend for just oo events. o 2| =K95/395 =195/0.00051|  =195/0.00021 ] 1 qf o 112] 106) 7] of =AA95/z95 2 1 1 | ! 1
N1 counts fill 50% ot time interval and evidence for overlap from
96 i t. Assign 55 ts t i t. Could b
1337]  =INT(E96/3600)]  =INT((E96-(B96*3600))/60)|  =E96-(BI6*3600)-(CI6*60)| 16746.422| =E96-$ES6| 0.102 0.2f 105 8 0|  Ofnother eventin this time step. 1 =K96/396 =196/0.00051|  =196/0.00021 1 11 o o 5ol 8 o o =AAg96/z96 2 o 1 o
Could b flow fi ious step but likely singl
97 | 1338 =INT(E97/3600) =INT((E97-(B97*3600))/60) =E97-(B97*3600)-(C97*60)| 16747.406| =E97-$E$6| 0.984 10| 12 of 0 Olevent - crTow om previous siep Bt more ey singie =K97/J97 =197/0.00051|  =197/0.00021 il o o o 12l o o o =Aa97/z97 1 0
98
Could b flow to next interval but would require additional
99 | 1340f =INT(E99/3600)[  =INT((E99-(B99*3600))/60)  =E99-(BI9*3600)-(C99*60)| 16749.004] =E99-$E$6| 0.598 0.6 36| 7| 2]  ofchievent Morelikely to be isolated event, =K99/399 =199/0.00051|  =199/0.00021 1 1 af o 36 71 2] o =AA9g/zo9 1 1 1 | ! 1
100 | 1341 =INT(E100/3600)] =INT((E100-(B100*3600))/60)] =E100-(B100*3600)-(C100*60)| 16749.422] =E100-$E$6[ 0.418 0.4 70] 33 0| Olsame as above. =K100/J100 =1100/0.00051] =1100/0.00021 1 1 o o 70 33 0| 0] =AA100/Z100 1 1 1 1
101 1342 =INT(E101/3600) =INT((E101-(B101*3600))/60)] =E101-(B101*3600)-(C101*60)| 16750.218] =E101-$E$6| 0.796 0.8] 42 5 0 O|See above =K101/J101 =|101/0.00051] =1101/0.00021 1 1 0 0 42 5 0 0] =AA101/z101 1 1 1 1
102
Possible overflow into next timestep. If ch2 overflows then it
requires another chl only event of 25 cts. Also ch3 event starts
5ms (9cts) too late if it is also going to overflow. Double counter
103 overflow in chl gives unreasonably long t(n1)-t(n2) as well as
unrepresentative N(2)/n(1) vs N(2). Best solution is for a
hannel | flow. Assign 20 counts to this impact.
1344 =INT(E103/3600)] =INT((E103-(B103*3600))/60)| =E103-(B103*3600)-(C103*60)| 16750.82| =E103-$E$6| 0.398 04 91 59| g 3g[Tne e ony overiow. Assign SR cotis lTusImpAck ) 5 |=k108/9103 =1103/0.00051| =1103/0.00021 il 4 4 1 111 159 56| 38 =AA103/z103 2 2 2 2 1 1 1 1
See above. Transfer of 20 N1 counts t i t. Assi
104 | 1345 =INT(E104/3600) =INT((E104-(B104*3600))/60)| =E104-(B104*3600)-(C104*60)| 16751.019| =E104-$E$6| 0.199 02| 136| 65| 23| oo morechonvevent o b o PN 12K104/9104 =1104/0.00051] =1104/0.00021  aof 1 o os| 65| 23 0| =AA104/z104 2l aof 4l 4 1 1
20 0 0 0] =AA105/2105]
=INT(EL06/3600)] =INT((E106-(B106*3600))/60)] =E106-(B106*3600)-(C106*60)| 16751.422] =E106-$SE$6| 0.403 0.4 26 0 O  O|Single event most likely =K106/J106 =1106/0.00051| =1106/0.00021 i o o o 26| o] 0| o] =AA106/Z106 1 1
Separate events most likely. However, N1 counts very high. No
107 . " " benefit in asssigning overflow to next period due to high N1
1347] =INT(E107/3600) =INT((E107-(B107*3600))/60)] =E107-(B107*3600)-(C107*60)| 16751.621] =E107-$E$6| 0.199 0.2 89 16 0 Olcounts there too. Assign two events. 1|=K107/J107 =|107/0.00051] =1107/0.00021 2 1 0 0 59| 16 0 0] =AA107/2107 3 1 1 1
30 0 0 0] =AA108/2108,
N1 Counts too high for sing| t. Overfl ible but
=INT(E109/3600)] _ =INT((E109-(B109*3600))/60)| =E109-(B109*3600)-(C109*60)| 16751.718] =E109-$E$6| 0.097 0.2f 102 0] 0|  Olevidence from adiacent fimes Assign 3 events . =K109/J109 =1109/0.00051f =1109/0.00021 3 o o o 400 0l 0o 0| =AA109/2109 4 2
See above 32 0 0 0] =AA110/Z2110
See above 30 0 0 0l =AA111/7111
=INT(E112/3600) =INT((E112-(B112*3600))/60)] =E112-(B112*3600)-(C112*60)] 16751.82] =E112-$E$6| 0.102 0.1 30 0 0 0O|single event most likely =K112/J112 =1112/0.00051] =1112/0.00021 1 0 0 0 30 0 0 0] =AA112/2112 1 1
113 1350] =INT(E113/3600) =INT((E113-(B113*3600))/60)] =E113-(B113*3600)-(C113*60)| 16752.422] =E113-$E$6| 0.602 0.6 36) 1 0 0O|single event most likely =K113/J113 =]113/0.00051] =1113/0.00021 1 1 0 0 36 1 0 0] =AA113/Z7113 1 1 1 1
N1 counts too low. Implies overflow to next interval (overflow
114 from previous interval doesn't help). Could be chl and ch2
overflow but this would require additional N1=23 count event.
Assign Ch1 only overflow with small event in next
1351] =INT(E114/3600) =INT((E114-(B114*3600))/60)] =E114-(B114*3600)-(C114*60)| 16752.519] =E114-$E$6| 0.097 0.1 51 64 0 Oltimestep.interval 1]=K114/J114 =1114/0.00051] =1114/0.00021 2 1 0 0 71 64 0 0] =AA114/Z2114 2 2 1 1
115
116 1352 =INT(E116/3600) =INT((E116-(B116*3600))/60)] =E116-(B116*3600)-(C116*60)|] 16753.019] =E116-$E$6 0.5 0.5] 42 4 0 O|see above. =K116/J116 =1116/0.00051] =1116/0.00021 0 0 22 4 0 0] =AA116/Z116|
117
118 | 1355 =INT(E118/3600)] =INT((E118-(B118*3600))/60)] =E118-(B118*3600)-(C118*60)| 16753.605] =E118-$E$6| 0.199 02 3 ol o0 o|single isolatd event =K118/J118 =1118/0.00051] =1118/0.00021 i of o o 3 of o of =AA118/z118§ 1 1
119
120 1357 =INT(E120/3600) =INT((E120-(B120*3600))/60)] =E120-(B120*3600)-(C120*60)| 16754.105] =E120-$E$6| 0.101 0.1 20 (0] 0 O|single event most likely =K120/J120 =1120/0.00051] =1120/0.00021 1 0 0 0 20 0 0 0] =AA120/2120 1 1
Single event most likely, But N1 very low.for non-zero n2 count.
121 Some or aII_counts from next event may be included. Assign 31
ts to th tand| I'1 count t d d
1358] =INT(E121/3600)  =INT((E121-(B121*3600))/60)| =E121-(B121*3600)-(C121*60)| 16754.304] =E121-$E$6] 0.199 0.2 15| 11] of ofimpact o aneeave nomingl T coumtio record secon =K121/J121 =1121/0.00051f =1121/0.00021 1 1 o o 46 11 0] 0| =AA121/7121 | I R R
122 1359 =INT(E122/3600)] =INT((E122-(B122*3600))/60)] =E122-(B122*3600)-(C122*60)| 16754.406] =E122-$E$6| 0.102 0.1] 32 0 0 0Olsingle event, overlap from previolus event or both? =K122/J122 =|122/0.00051] =1122/0.00021 1 0 0 0 1 0 0 ol =AA122/7122 1 0
123
124 1361 =INT(E124/3600) =INT((E124-(B124*3600))/60)] =E124-(B124*3600)-(C124*60)| 16755.004] =E124-$E$6| 0.399 0.4 24 (0] 0 O|Single isolated event =K124/3124 =|124/0.00051] =1124/0.00021 1 0 0 0 24 0 0 0] =AA124/z2124 1 1
125
126 1366 =INT(E126/3600) =INT((E126-(B126*3600))/60)] =E126-(B126*3600)-(C126*60)| 16755.922| =E126-$E$6 0.5 0.5 17| 0 0 0O|single event most likley =K126/J126 =|126/0.00051] =1126/0.00021 1 0 0 0 17 0 0 0] =AA126/2126)
Could b lap with next period but would require at least twi
127 | 1367| =INT(E127/3600) _=INT((E127-(B127+3600))/60)| =E127-(B127+3600)-(C127*60)| 16756.121 =E127-$E$6| 0.199 0.2f 93] 53 12|  Olcventsin total isolated event has higher probabilty. | 1[FK127/3127 =1127/0.00051| =1127/0.00021 1 1 9 o 03| 53 12[ o] =AA127/z127 2 1 1 i 1 1
128 1368 =INT(E128/3600) =INT((E128-(B128*3600))/60)] =E128-(B128*3600)-(C128*60)| 16756.422] =E128-$E$6| 0.301 0.3 52 9 0 0O|single event most likley =K128/J128 =|128/0.00051] =1128/0.00021 1 1 0 0 52 9 0 0] =AA128/2128 2 1 1 1
129
130 1370] =INT(E130/3600) =INT((E130-(B130*3600))/60)] =E130-(B130*3600)-(C130*60)| 16757.019] =E130-$E$6| 0.301 0.3 32 0 0 OJsingle event most likley =K130/J130 =[130/0.00051| =1130/0.00021 1 0 0 0 32 0 0 0] =AA130/Z2130 2 1
131 | 1371 =INT(E131/3600)] =INT((E131-(B131*3600))/60)] =E131-(B131*3600)-(C131*60)| 16757.422] =E131-$E$6| 0.403 0.4 14 0 0| O[Single event most likley =K131/J131 =1131/0.00051] =1131/0.00021 1 of o o 14 0] 0 0] =AA131/Z131 1 1
132 1372 =INT(E132/3600) =INT((E132-(B132*3600))/60)] =E132-(B132*3600)-(C132*60)| 16757.519] =E132-$E$6| 0.097 0.1 17| (0] 0 O|single event most likley =K132/J132 =|132/0.00051] =1132/0.00021 1 0 0 0 17 0 0 0] =AA132/2132 1 1
133
134 1374 =INT(E134/3600) =INT((E134-(B134*3600))/60)] =E134-(B134*3600)-(C134*60)] 16757.82] =E134-$E$6| 0.199 0.2 31 7 1 O|single event most likley =K134/J134 =1134/0.00051] =1134/0.00021 1 1 1 0 31 7 1 0] =AA134/2134 1 1 1 1 1 1
135 1375] =INT(E135/3600) =INT((E135-(B135*3600))/60)] =E135-(B135*3600)-(C135*60)| 16758.422] =E135-$E$6| 0.602 0.6 25 (0) 0 O|single event most likley =K135/J135 =|135/0.00051] =1135/0.00021 1 0 0 0 25 0 0 0] =AA135/2135 1 1
Single event possible but N1 looks high compared with N2.
Could be overlap with next time interval in chl and ch 2. If so
then only 5 N1 counts would contribute, leaving an unlikely chl
136 only count of 69 (implying two furhter chl only events) as well
as even greater problems with N2/N1 ratios in next two periods
(see below). Ch1 only overflow is even worse. Assign two
1376] =INT(E136/3600)| =INT((E136-(B136*3600))/60)| =E136-(B136*3600)-(C136*60)| 16758.82| =E136-$E$6| 0.398 04 74  11] o  ofevents in this imestep. 1|=K136/3136 =1136/0.00051| =1136/0.00021 2l 1 o o 54/ 11) of o] =AA136/7136 2 1 1 1
137 || 200 o[ o o] =AA137/Z137
Somewhat large t(N2)/t(n1). Cannot solve with single event and
overflow from previous timestep due to N3 count. Overflow into
next timestep is possible but cannot be just N1 since 1378
event would have unlikely N2/N1ratio. If overlap is in n2 counts
138 as well then there must be another N1 event with 19 of the 28
counts. This would leave second event with n1=67, n2=70 n3
=4 which appears more likely than 2 separate eventsin 0.1 s
intervals, both with low N2/N1 ratios.
1377 =INT(E138/3600)| =INT((E138-(B138*3600))/60)| =E138-(B138*3600)-(C138*60)| 16758.922| =E138-$E$6| 0.102 01 28 21 4 2|=K138/3138 =1138/0.00051| =1138/0.00021 2l 1 1 o 190 of o o] =AA138/z138 2 1 2 1 1 1
139 (S 67 70[ 4] 0 =AA139/7139
140 | 1378] =INT(E140/3600)] =INT((E140-(B140*3600))/60)] =E140-(B140*3600)-(C140*60)| 16759.019] =E140-$SE$6| 0.097 0.1] 58] 49 0 O[No event See above =K140/J140 =1140/0.00051] =1140/0.00021 of of o o 1 1 1 1
141 | 1379 =INT(E141/3600)] =INT((E141-(B141*3600))/60)] =E141-(B141*3600)-(C141*60)| 16759.402] =E141-$E$6| 0.383 04 1 0 0|  O|Single event most likely =K141/J141 =1141/0.00051] =I1141/0.00021 1 o o o 1 o] of of =AAT41/z141 1 1
142 1380] =INT(E142/3600) =INT((E142-(B142*3600))/60)] =E142-(B142*3600)-(C142*60)| 16759.703] =E142-$E$6| 0.301 0.3 1 0 0 O|single event most likely =K142/J142 =1142/0.00051] =1142/0.00021 1 0 0 0 1 0 0 0] =AA142/2142 1 1
143 1381] =INT(E143/3600) =INT((E143-(B143*3600))/60)] =E143-(B143*3600)-(C143*60)| 16759.906] =E143-$E$6| 0.203 0.2 19 0 0 0O|single event most likely =K143/3143 =1143/0.00051| =1143/0.00021 1 0 0 0 19 0 0 0] =AA143/Z2143 1 1
144 | 1382 =INT(E144/3600)] =INT((E144-(B144*3600))/60)] =E144-(B144*3600)-(C144*60)| 16760.406] =E144-$E$6| 0.5 05| 34 2 0  O[single event most likely =K144/3144 =1144/0.00051] =1144/0.00021 il 1 o o 34 2|  of o] =AA144/7144 2 1 1 1
145 Overflow possible but inconsistent with next event. Assign
1383] =INT(E145/3600) =INT((E145-(B145*3600))/60)] =E145-(B145*3600)-(C145*60)| 16760.504] =E145-$E$6| 0.098 0.1] 44 3 0 Olsingle event. =K145/J145 =|145/0.00051] =1145/0.00021 1 1 0 0 44 3 0 0] =AA145/2145 2 1 1 1
Very high t(n2)/t(N1). Could be better if overflow. Previous
event doesn't help. Next event has lots of N1 counts. Assume
146 overlap here in chl only. Partition N1 counts to give same
1384] =INT(E146/3600) =INT((E146-(B146*3600))/60)] =E146-(B146*3600)-(C146*60)| 16761.422| =E146-$E$6| 0.918 0.9 15 20 0 OlN(2)/N(1) for each. . =K146/J146 =1146/0.00051| =1146/0.00021 1 1 0 0 521 20 0 0] =AA146/2146) 2 1 1 1
147 1385 =INT(E147/3600)] =INT((E147-(B147*3600))/60)] =E147-(B147*3600)-(C147*60)| 16762.422| =E147-$E$6 1 1.0 112 29 0 Oloverflow from previous interval plus another event. 1|=K147/J147 =1147/0.00051|] =1147/0.00021 1 1 0 0 75| 29 0 0| =AA147/2147 2 1 1 0
148 1386 =INT(E148/3600) =INT((E148-(B148*3600))/60)] =E148-(B148*3600)-(C148*60)| 16762.922| =E148-$E$6 0.5 0.5 89 19 1 O|High N1 count. Assign two events. =K148/J148 =|148/0.00051] =1148/0.00021 2 1 1 0 64] 19 1 0] =AA148/2148 2 1 1 1 1 1
149 [JSEE| 25] o[ o o =AA149/7149
150 1387 =INT(E150/3600) =INT((E150-(B150*3600))/60)] =E150-(B150*3600)-(C150*60)| 16763.121] =E150-$E$6| 0.199 0.2 43 2 0 Olisolated event most likely =K150/J150 =|150/0.00051] =1150/0.00021 1 1 0 0 43 2 0 0] =AA150/2150 2 1 1 1
151
152 1391] =INT(E152/3600) =INT((E152-(B152*3600))/60)] =E152-(B152*3600)-(C152*60)| 16764.32] =E152-$E$6| 0.699 0.7 24 1 0 O[Single isolated event =K152/J152 =|152/0.00051] =1152/0.00021 1 1 0 0 24 1 0 0] =AA152/2152 1 1 1 1
153
154 1394 =INT(E154/3600) =INT((E154-(B154*3600))/60)] =E154-(B154*3600)-(C154*60)| 16765.304] =E154-$E$6| 0.785 0.8 25 1 0 O[single isolated event =K154/J154 =1154/0.00051] =1154/0.00021 1 1 0 0 25 1 0 0] =AA154/2154 1 1 1 1
155
156 1397] =INT(E156/3600) =INT((E156-(B156*3600))/60)] =E156-(B156*3600)-(C156*60)| 16766.406] =E156-$E$6| 0.801 0.8 24 1 0 O|Single event most likely 1|=K156/J156 =|156/0.00051] =I156/0.00021 1 1 0 0 24 1 0 0] =AA156/2156) 1 1 1 1
157 | 1398] =INT(E157/3600)] =INT((E157-(B157*3600))/60)] =E157-(B157*3600)-(C157*60)| 16766.902] =E157-$E$6| 0.496 05 17 I~ o] Olsingle event most likely =K157/J157 =1157/0.00051] =1157/0.00021 i 1 o o 17 1] 0| 0| =AA157/Z157 1 1 1 1
158
159 1401} =INT(E159/3600) =INT((E159-(B159*3600))/60)] =E159-(B159*3600)-(C159*60)| 16769.422| =E159-$E$6 1 1.0 1 (0) 0 O|single event most likely =K159/J159 =|159/0.00051] =1159/0.00021 1 0 0 0 1 0 0 0] =AA159/2159 1 1
160 | 1402] =INT(E160/3600)] =INT((E160-(B160*3600))/60)] =E160-(B160*3600)-(C160*60)| 16770.422] =E160-SE$6 1 0| 45 4 0|  O[single event most likely =K160/J160 =1160/0.00051] =1160/0.00021 1 1 o o 45 4] 0] 0| =AA160/Z160 2 1 1 1
161 | 1403] =INT(E161/3600)] =INT((E161-(B161*3600))/60)] =E161-(B161*3600)-(C161*60)| 16771.402] =E161-$E$6| 0.98 o 1 0 0|  O|Single event most likely =K161/J161 =1161/0.00051| =1161/0.00021 i1 o o o 1 o of o =AAl6L/Z161 1 1
162 | 1404] =INT(E162/3600)] =INT((E162-(B162*3600))/60)] =E162-(B162*3600)-(C162*60)] 16772.402] =E162-$E$6 1 o] 5 0 O O[Single event most likely =K162/J162 =1162/0.00051] =1162/0.00021 i of o o 51 of o o] =AA162/7162 1 1
163 1405 =INT(E163/3600) =INT((E163-(B163*3600))/60)] =E163-(B163*3600)-(C163*60)| 16773.422] =E163-$E$6| 1.02 1.0 3 0 0 O|single event most likely =K163/J163 =1163/0.00051] =1163/0.00021 1 0 0 0 3 0 0 0] =AA163/2163 1 1
164 1406 =INT(E164/3600) =INT((E164-(B164*3600))/60)] =E164-(B164*3600)-(C164*60)| 16774.422] =E164-$E$6 1 1.0 2 0 0 O|single event most likely =K164/J164 =1164/0.00051] =1164/0.00021 1 0 0 0 2 0 0 0] =AA164/2164 1 1
165
166 | 1409] =INT(E166/3600)] =INT((E166-(B166*3600))/60)] =E166-(B166*3600)-(C166*60)| 16777.402] =E166-$E$6| 0.98 1ol 1 0] o O[single isolated event =K166/J166 =1166/0.00051] =1166/0.00021 i of o o i of of o =AA166/7166 1 1
167
168 1411 =INT(E168/3600) =INT((E168-(B168*3600))/60)] =E168-(B168*3600)-(C168*60)| 16779.422] =E168-$E$6| 1.02 1.0 1 0 0 O|single isolated event =K168/J168 =1168/0.00051] =1168/0.00021 1 0 0 0 1 0 0 0] =AA168/2168, 1 1
169
170 | 1429] =INT(E170/3600)] =INT((E170-(B170*3600))/60)] =E170-(B170*3600)-(C170*60)| 16797.422] =E170-$E$6[ 1.016 1o 2 0 0| O[Single isolated event =K170/J170 =1170/0.00051] =1170/0.00021 1 of o o 2 0| 0] o] =AAL170/z170 1 1
171
172 | 1434] =INT(E172/3600)] =INT((E172-(B172*3600))/60)] =E172-(B172*3600)-(C172*60)| 16802.402| =E172-$E$6 1 1.0 75 44 3[ Olsingle isolated event =K172/3172 =1172/0.00051] =1172/0.00021 il 1 1] o 75| 44 3| o] =AA172/7172 1 1 1 1 1 1
173
174 1437] =INT(E174/3600) =INT((E174-(B174*3600))/60)] =E174-(B174*3600)-(C174*60)| 16805.422| =E174-$E$6 1 1.0 2 0 0 O[single isolated event =K174/J174 =|174/0.00051] =1174/0.00021 1 0 0 0 2 0 0 0] =AAL174/Z2174 1 1 0 0
175
176 | 1441 =INT(E176/3600)] =INT((E176-(B176*3600))/60)] =E176-(B176*3600)-(C176*60)| 16809.422] =E176-$E$6| 1.02 1.0l 230 9 0 O[single isolated event =K176/J176 =1176/0.00051] =1176/0.00021 i 1 o o 300 9 of o] =AA176/Z176 1 1 1 1
177
178 1443] =INT(E178/3600) =INT((E178-(B178*3600))/60)] =E178-(B178*3600)-(C178*60)| 16811.422| =E178-$E$6 1 1.0 17 (0] 0 O[single isolated event =K178/J178 =|178/0.00051] =I178/0.00021 1 0 0 0 17 0 0 0] =AA178/2178 1 1
179
180 1454] =INT(E1 =INT((E180-(B180* =E180-(B180* -(C180* 1 4 =E180-$E 1 1. 5 Single isolated event 1|=K180/J1 =11 . 51 =I1 . 1 1 1 5 =AA180/Z1 1 1 1 1
80/3600 80 80*3600))/60 80 80*3600)-(C180*60)| 16822.422 80-$E$6 0 2 33 0 0 80/J180 80/0.000 80/0.0002 0 0 2| 33 0 0 80/Z180
181
182 145 =INT(E1 =INT((E182-(B182* =E182-(B182* -(C182* 1 4 =E182-$E 1 1. Single isolated event = = . = . 1 1 =AA182/Z1 1 1
8 82/3600 82 82*3600))/60 82 82*3600)-(C182*60)| 16826.402 82-$E$6 0 1 0 0 0 K182/J182 1182/0.00051 1182/0.00021 0 0 0 0 0 0 82/2182
183
184 1464] =INT(E184/3600) =INT((E184-(B184*3600))/60)] =E184-(B184*3600)-(C184*60)| 16832.402| =E184-$E$6 1 1.0 56) 21 0 O|single isolated event =K184/J184 =1184/0.00051] =1184/0.00021 1 1 0 0 56| 21 0 0] =AA184/72184 1 1 1 1
185
186 14 =INT(E1 =INT((E186-(B186* =E186-(B186* -(C186* 16848.4 =E186-$E 1 1. Single isolated event = = . = . 1 1 =AA186/Z1 1 1 1 1
80 86/3600 86 86*3600))/60 86 86*3600)-(C186*60)| 16848.402 86-$E$6 0 28 6 0 0 2|=K186/J186 1186/0.00051 1186/0.00021 0 0 28 6 0 0 86/2186
187
188 1484] =INT(E188/3600) =INT((E188-(B188*3600))/60)] =E188-(B188*3600)-(C188*60)| 16852.402| =E188-$E$6 1 1.0 8 2 0 O[single isolated event =K188/J188 =|188/0.00051] =1188/0.00021 1 1 0 0 8 2 0 0] =AA188/72188, 1 1 1 1
189
190 1524 =INT(E190/3600) =INT((E190-(B190*3600))/60)] =E190-(B190*3600)-(C190*60)| 16892.402] =E190-$E$6 1 1.0 1 0 0 O[Single isolated event =K190/J190 =|190/0.00051] =1190/0.00021 1 0 0 0 1 0 0 0] =AA190/2190 1 1
191
192 1552 =INT(E192/3600) =INT((E192-(B192*3600))/60)] =E192-(B192*3600)-(C192*60)| 16920.402| =E192-$E$6 1 1.0 55 20 0 O|single isolated event =K192/J192 =1192/0.00051] =1192/0.00021 1 1 0 0 55 20 0 0] =AA192/7192 2 1 1 1
193
194 1653] =INT(E194/3600) =INT((E194-(B194*3600))/60)] =E194-(B194*3600)-(C194*60)| 17020.902| =E194-$E$6 0.5 0.5 43 5 0 O[single isolated event =K194/3194 =1194/0.00051| =1194/0.00021 1 1 0 0 43 5 0 0] =AA194/Z2194 2 1 1 1
195
196 [ 1700] =INT(E196/3600)] =INT((EL96-(B196*3600))/60)] =E196-(B196*3600)-(C196*60)| 17067.402] -E196-SE$6 1 10 0 o 0| OfEnd of good data
197

198 |Total 4026 1563| 373| 150 124 61 17 4 4025| 1563| 373| 150 160 106 65| 59 17 17 4 3




